
PL/M-80 COMPILER 

ISIS-II PL/~-80 V3.1 COMPILATION OF MODULE EOLLIB 
OBJ~CT MODULE PLACED IN :F1:EDLL!8.08J 
COMPIL2R INVCKED BY: PLM80 :F1:EDLLIB.SRC 
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EDLLIS: oo; 

MIPSEN: PRCCEOUR2 (SOC, MSG$?, LEN) BYT~ EXTERNAL; 
DECLARE (SOC, MSG$P, LEN) AOCRESS; 

ENO MIPSEN; 

MIPRCV: PROCEDURE (PORT) ADDRESS EXTERNAL; 
o=cLARE ?ORT BYTE; 

ENO MIPRCV; 

DECLARE EDL$SOCKET LITERALLY '0001H'; 

DECLARE REQ STRUCTURE ( 
MIP(12) aYTE, 
PROC ADDRESS, 
CMO 8YTE, 
RESULT BYTE, 
RESPSCC ADDRESS, 
DAT(4) ADDRESS); 

DECLARE REQ$DATS(2) BYTE AT (.REQ.OAT); 

DECLAR2 MIP$STATUS BYTE; 

TRANSACT: PROCEDURE cc~o); 
DECLARE CMO aYTE; 
R E Q • c tJ D = om ; 
REQ.PROC = o; 
REQ.RESPSOC = 0304H; 
MIP$STATUS = MIPSEN CEOL$SOCKET, .REQ, 26); 
IF MIPSSTATUS = BOH OR MIP5STATUS = 82H 

THEN MIPSSTATUS = O; 
ELSE RETURN; 

DO WHILE MIP$RCV C4) <> .R~Q; 
EN o; 

ENO TRANSACT; 

uECLARE POINTER LITERALLY '(2) ADDRESS'; 
DECLARE WORD LITERALLY 'ACDRESS'; 
D~CLARE COMM$?0RT LITERALLY 'OA4H'; . 
DECLARE COUTRQO, INRQO) BYTE EXTERNAL; 

DECLARe PRES STRUCTURE ( 
CMD BYTE, 
RESP BYT::, 
DIAG SYTE) AT COF690H); 

DECLARE LGO STRUCTURE ( 
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CMC svT::, 
RESP 8YTE, 
FROM POINTER, 
DEST PCINTER, 
LEN WCRD, 
START vJ 0 R 0, 

DEVCNT BYT::, 
IOSCNT BYTE, 
THISDEV aYTE, 
RSRD BYTE, 

!uSBASC: BYTE:, 
IDSSI2C: 2YTE, 

DEV IO BYTE, 
STATUS SYTE.1 
RQDtoCS POINTER, 
R1~Cfromca POINTER, 
INTTYPE BYTE.1 
vJAITTIME SYTE, 
INT A OR WORD) .l\ T <OF690H) i 

DECLARE LGG$0ATA STRUCTURc 
CMD 
RESP 
FROM 
DEST 
LEN 
START 

DC:VCNT 
IDSCNT 
THIS DEV 
RSRO 

IDSBASE 
IDSSIZi: 

S YT::, 
BYTE.1 
POINTER, 
POINTER, 
WORD, 
\~ORD.1 

BYTE, 
BYTE, 
BYTE, 
8 YT c:, 

BYTE, 
BYTE, 

DEVID 8YTE.1 
STATUS BYTE, 
KQ0toC8 POINTER, 
RQCfromCB FOINTER.1 
INTTYPC: BYTE, 
vJAITTIME BYT~, 

INTADR WORD) DATA ( 

( 

z, a, .NULLCOOE,Q, 300CH.10FCOOH.1 1, 3000H, 
1, 1, 0.1 o, 
Q, 16, 
3, OFfH, .CUTRQQ,Q, .INRQQ,Q, O, OFfH, 2324H)i 

DECLARE NULLCOOE BYT~ DATA COC3H)i I* 8086 RETURN INSTRUCTION */ 

CQ$STRT: PROCECUR= (STATUS$P) FUoLIC; 
DECLARE STATUSSP ADDRESS, STATUS BASED STATUS$? ADDRESS; 
DECLARE (I.1J) ADCRESS;-
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/* R~SET COMM BOARD */· 

OUTPUT CCOMM$PORT) = 1; 
DO I= 0 TO 65000; J=J+I; ENO; /*TIME MUST BE 1.5 SECONDS OR MORE*/ 

I* ISSU2 PRESENCE CO~MAND */ 

PRES.GMO = 1 ; '* INITIALIZE CONTROL BLOCK *' ?R::S.RESP = c; 
OUTPUT CCOMM'SPORT) = 2; I* GENERATf: INTERRUPT *' DO I = 0 TO 100; 

DO J = 0 TO 650QQ; 
IF PR:=s.R::SP <> 0 THEN GOTO L1; 

ENO; 
ENO; 
ST A Tu S = 1 '* NOT PRESENT */; / 

RETURN; 
L 1 : 

'* ISSUE LOAD ANC GO COMMAND \HTH JUST A RETURN *' 
CALL MOVE CS!ZECLGQ), .LGOSDATA, .LGC); /* INITIALIZE CONTROL BLOCK */ 
OUTPUT CCOMMSPORT) = 2; 
DO I = 0 TO 100; I* WAIT FOR REPLY */ 

DO J = 0 TO 65CQO; · 
Ir LGO.RESP <> 0 THEN GOTO L2; 

·EN iJ; 
END; 
STATUS = 1 /* NOT PRESENT */; 
RETURN; 

L2: 

STATUS = o; '* WAIT A30UT OTHER STATus=s? *' 
END CQ$STRT; 

CQ$CONN: PROCECURE (TYPE, STATUS$P) PUcLIC; 
DECLARc TYPE ADDRcSSi 
DECLARE STATUS$? ADDRESS, STATUS BASED STATUS$P ADDRESS; 
REQSCATB(O) =HIGH. (TYPE); 
REQSCAT3(1) = LOW(TYPE); 
CALL TRANSACT C1); 
IF MIP$STATUS <> 0 

THEN STATUS = MIP$STATus; 
=LSE STATUS = REQ.RESULT; 

END CQ$CONN; 

CQ$0ISC: PROCEDURE (TYPE, STATUS$P) PUBLIC; 
DECLARE TYP= ADDRESS; 
DECLARE STATUS$? ADDRESS, STATUS BASED STATUS$P ADDRESS; 
REQSDAT3(0) = HIGH CTYP=); 
REQ$0ATaC1) = LOW (TYPE); 
CALL TRANSACT (2); 
STATUS = MIPSSTATUS; 

END CQSDisc; 
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CQ$AMIO: PROCEDURE CMCID$?, STATUS$P) PUBLIC; 
DECLARE MCIO$P AODR~ss; 
DECLARE MCID BASED MCID$P (3) ADDRESS; 
DECLAR2 STATUS$P ADDRESS, STATUS 3ASED STATUS$P ADDRESS; 
REQ.CATCO) = MCIC(Q); 
REQ.CATC1) = MCIC(1); 
R~Q.DATC2) = MCIC(2); 
CALL TRANSACT (3); 
IF MIP$STATUS <> 0 

THEN STATUS = MIP$STATus; 
ELSE STATUS = REQ.RESULT; 

END CQ$AMIO; 

CQ$0MIO: PROCEDURE (MC!O$?, STATUS!P) PUBLIC; 
DECLARE MCID$P ADDRESS; 
DECLARE MCIO 3ASED MCID$P (3) ADCREss; 
DECLARE STATUS$? ADDRESS, STATUS BASED STATUS$? ADDRESS; 
REQ.DATCO) = MCIO(Q); 
REQ.DATC1) = MCIDC1); 
REQ.DAT(2) = MCIDC2); 
CALL TRANSACT (4); 
STATUS = MIPSSTATUS; 

END CQSDMIO; 

CQ$XMIT: PROCEDURE CBUF$P, STATUSSP) PUBLIC; 
DECLARE 3UF$P ADCRESS; 
DECLARE BUF BASEC BUF$P STRUCTURE ( 

MIP(12) SYT::, 
PROC ADDRESS, 
CMD BYT=, 
RESULT BYTE, 
RESPSOC ADDRESS, 
LEN ADCRESS); 

DECLARE STATUS$P ADOR~ss, STATUS BASED STATUS$P ADDRESS; 
BUF.PROC = O; 
3UF.CMD = 5; 
BUF.RESPSOC = 03CSH; 
STATUS = MIPSEN CEDL$SOCKET, BUF$P, BUF.LEN+26); 
IF STATUS = 80H OR STATUS = 82H THEN STATUS = Q; 

END CQ$XMIT; 

CQ$CKTX: PRCCEOURE CSTATUS$P) ADDRESS PU3LIC; 
DECLAR: STATU5$P ADDRESS, STATUS BASED STATUS$P ADDRESS; 
DECLARE BUF$P ADDRESS; 
DECLAR~ BUF 8ASEC BUF$P STRUCTUR~ C 

MIPC12) BYTE, 
PROC ADDRESS, 
CMD 3YTc/ 
RESULT BYTE, 
RESPSOC ADDRESS, 
LEN ADCRESS); 

BUF$P = MIPRCV CC5H); 
IF BUFSP <> 0 THEN STATUS = BUF.RESULT; 
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RETURN BUF$Pi 
cND CQ$CKTXi 

CQ$SoUr: PROCEDURE (3UF$P, STATUS$P) PUSLICi 
DECLARe oUF$P ADCRESSi 
DECLARE 3UF BASED BUF$P STRUCTURE ( 

MIPC12) BYTE, 
PROC ADDRESS, 
CMO BYTE, 
RESULT BYTE, 
RESPSOC ADDRESS); 

DECLARE STATUS$P ADDRESS, STATUS BASED STATUS$P ADDRESS; 
auF.PROC = o; 
BUF.CMD = 6i 
BUF.RESPSOC = 03C6Hi 
STATUS = MIPSEN (EDL$SOCKET, 9Uf$p, 1514+20); 
IF STATUS = 80H OR STATUS = 82H THEN STATUS = Oi 

ENO CQ$Si3UFi 

CQ$CKRX: PROCEDURE (STATUS$P) ACDRESS PUBLIC; 
DECLARE STATUS$P ADDRESS, STATUS BASED STATUS$P ADDRESS; 
STATUS = Oi 
RETURN MIPRCV C06H)i 

2ND CQ$CKRXi 

CQ$R2AO: PROCEDURE (OBJECT, RET$P, STATUS$P) PUBLICi 
DECLARE (OBJECT, RET$P) ADDRESS; 
DECLARE RET 8ASEC RET$P (3) ADDRESS; 
DECLARE STATUS$P ADDRESS, STATUS BASED STATUSSP ADDRESSi 
REQ.DAT(O) = 03JECT; 
CALL TRA~SACT (3); 
STATUS = MIP$STATus; 
RET(C) = REQ.DAT(1); 
RETC1) = REQ.OAT(2); 
R=T(2) = RcQ.OAT(3)i 

ENO CQ3REAO; 

CQSRDCL: PROCECUR~ (OBJECT, RET$P, STATUSSP) PUBLIC; 
DECLARE (OBJECT, RET$P) ADDRESS; 
DECLARE RET BASED RET$P (3) ADDRESS; 
DECLARE STATUS$P ADDRESS, STATUS BASED STATUS$P ADDRESS; 
REQ.GAT(O) = 03JECTi 
CALL TRANSACi (9); 
STATUS = MIP$STATUS; 
RET(G) = REQ.DATC1)i 
RETC1) = REQ.CAT(2)i 
RET(2) = REQ.OAT(3)i 

ENO CQSRDCL; 

END cDLLISi 

PAGE 5 



PL/M-80 COMPILER 

MODULE INFOR~ATION: 

CODE AREA SIZE 
VARIABLE AREA SIZE 
MAXIMUM STACK SIZE 
277 LINES READ 
0 PROGRAM ~RROR(S) 

= 043FH 
= 004CH 
= OOC6H 

END OF PL/M-80 COMPILATION 
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